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1. ξ = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}
A = {2, 3, 5, 7}
B = {1, 3, 9}
Complete this Venn diagram for this information.
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2. ξ = {+, -, ×, ÷, =, ≈, �, 6, �, >, 6= }
A = {+, -, ×, ÷, =, �, �}
B = {+, -, ×, ÷, =, ≈, 6=}
Complete this Venn diagram for this information.
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3. ξ = {11, 12, 13, 14, 15, 16, 17, 18, 19, 20}
A = {12, 15, 18}
B = {11, 13, 15, 17, 19}
Complete this Venn diagram for this information.
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4. ξ = {apple, biscuit, bread, butter, cake, egg, jam, food, milk, seed}
A = {apple, butter, egg, food, seed}
B = {cake, food, milk, seed}
Complete this Venn diagram for this information.
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